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One of the best astrologers in the world and researcher Richard Houck has 
suggested another chart and another day for USA but has been almost unnoticed 
by any astrologer.
This ignorance, in my opinion, has two main reasons :

First, he worked with sidereal zodiac. When many western astrologers hear of 
sidereal zodiac, they run away as though struck by plague.

And secondly, he has suggested other date than 4 July.What it should not be, can
not be.

To control this chart we take assassinations of presidents, because we know

/ =/ is murder.

AC and AC Lord are the country: USA (that is, it is the place where an event
takes place,not the people who live there.)
As AC (Virgo) Lord we take Venus,
Sun, MC (Gemini ) and ruler of MC (Mercury) are the president.
Moon is the public, the people who live there.

Because it is a murder or murder attempt we take Mars / Saturn and Neptune /
Pluto midpoints. USA chart must have :

1- Neptune/Pluto = Sun
2-In the assassination attempts must be Mars/Saturn,Nepune/Pluto, Sun, MC and
ruler of MC activated.

Richard Houck`s US Chart
June 19, 1776 11:54:46 AM LMT Philadelphia, PA

I have corrected it to 12:53:50 PM LMT

Used :
1-Sidereal zodiac (Krishnamurti Ayanamsa), Mean Node. 23°45'56" for Year 
2000. Speed of precession is 50.2388475.
2-Progressions Keys :
Tertiary : a sidereal day = a sidereal month
Secondary Progression : a sidereal day = a sidereal year
3-Harmonic 4096

Cemal Cicek

22.08.2018
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If we are looking Richard Houck`s Chart (Harmonic 16)

 =/ =/ and = (Mars and Saturn are exact to the second,
accordingly their effect is greater and MC Lord Mercury is there, it comes to it-
see page below)
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If we are looking for a usa chart : Harmonic 4096

 (MC ruler) =/ =/ =/MC
Whenever these midpoints are activated, it keeps coming back that the president
is being murdered or attempting murder, because upper equation through

--> / =/ =/MC =
connected to each other. Therefore, both planetary pictures are activated simul-
taneously.
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Abraham Lincoln

Abraham Lincoln, the 16th President of the United States, was assassinated by
well-known stage actor John Wilkes Booth on April 14, 1865, at 10:15 p.m. while
attending the play Our American Cousin at Ford's Theatre in Washington, D.C.

Tertiary : as we here see

p/p =p =n
p (MC ruler) =n/n
Jupiter is in harmonic 4096 in Natal on Neptune/Pluto midpoint,therefore it is not
a benefic, and here the natal midpoint is repeated in progression.
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Secondary

p/p =p/p = n
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Solar Return

Solar / = Solar / = Solar  (MC lord) = n (AC lord)

Solar  =n
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James A. Garfield

The assassination of President Garfield took place in Washington, D.C., at 9:30
a.m. on Saturday, July 2, 1881, less than four months after he took office.

Secondary

p/p =n/n =p (MC lord) =n =
n (AC Lord) /n
p =p =n/n
p =p =n
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Tertiary

p/p =n/n
p =n/n
p =p =n =n = MCn
p =p (MC lord) =n/n
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William McKinley

The assassination of President McKinley took place at 4:07 p.m. on Friday, Sep-
tember 6, 1901, at the Temple of Music in Buffalo, New York.

Lunar  Return

Lunar / = Lunar / = Lunar (AC lord)/AC =n
Lunaris as in Natal on lunar/ midpoint.

Lunar / =n/n
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Secondary

p/p =n/n =p =n
p (MC lord) =n =n/n
p (AC Lord) =n/n
p =n
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Tertiary

p/p =n
p (MC lord) =p =p =n/n =n/n
p (AC Lord) =n/n
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John F. Kennedy

The assassination of President Kennedy took place on Friday, November 22,
1963, in Dallas, Texas, at 12:30 p.m. CST

Solar Return

Solar / =n
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Lunar Return

Lunar / =n/n =n
Lunar  (MC lord) = MCn
Lunar  =n/n
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Secondary

p/p =n/n =n
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Ronald Reagan

Attempted assassination of Ronald Reagan

On March 30, 1981,2:27 p.m. President Ronald Reagan and three others were
shot and wounded by John Hinckley Jr. in Washington, D.C.

Secondary

p/p =n/n =n
p =p (AC lord) =p =n =n = MCn
p (MC lord) =p = ACn
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Andrew Jackson

January 30, 1835: Just outside the Capitol Building, a house painter named Rich-
ard Lawrence attempted to shoot Jackson with two pistols, both of which misfired.

Solar Return

Solar / =n
Solar MC = Solar  = n =n = MCn
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Lunar  Return

Lunar / = Lunar  = Lunar AC =n/n =n
Lunar / = Lunar  = Lunar= Lunar MC =n
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Attempted assassination of Donald Trump

On June 18, 2016, Michael Steven Sandford was arrested at a Donald Trump
presidential campaign rally in Las Vegas, Nevada in the United States after he at-
tempted to seize the pistol of a Las Vegas Metropolitan Police officer providing
security for the event (c.9:00 am).

Secondary

p =p =n/n =n
p =p =n/n
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If we look at Solar Return 2018 :

Solar / = Solar  =n/n =n

This solar is valid for the date 19.06.2018 and 19.06.2019.
One can expect  that it will try to murder president ? unlikely ?
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If we look at Solar Return 2018 for Trump :

Solar / = Solar  =n/n

 is Trump`s 7.Lord, it is maraka, the planet that brings death.

 is Trump`s 8.Lord, it is maraka too, and exactly on natal and
And Solar AC = natal
Another maraka is 2. Lord , with solar  on natal 
it looks very dangerous.
2nd option would be ; his wife operated for cancer,because / also shows
cancer,not an assassination. But it was May 14 2018 , before this solar.


